On Sept 20, 2020 Boris Johnson turned down the proposal from SAGE for a two-
week circuit breaker lockdown to be introduced around the October half term. This
was suggested by SPI-M and then supported by SAGE on September 21, where they
warned of “catastrophic consequences” if not adopted. September 20 was also the
day when the first B.1.1.7 variant was detected by the lighthouse lab at Milton
Keynes. What would have happened if the government had followed SAGE
advice, as opposed to introducing a circuit breaker on 5 November 2020?
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Under this scenario modelling, between 3,400 and 15,800 deaths might have been avoided (90% credible
interval, to the nearest hundred). This large range speaks to the difficulties of estimating what might have
happened because of the knock-on effects of any intervention. For example, an earlier lockdown would
have attenuated the second peak in November but may have just deferred a rebound during the
resurgence over Christmas.
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